Sr Questions Answers Choice

A. Ly,
B. Jes

1 =) e S S i S (S e

2 = UeS) el aa oS

3 = Ui e 1S S iladie S o

=

Uos S deS
Uos S kS
= =0

4 s e 8 (S Glds e gl Gl S s

0302
2S5 0u3
3S5dnd

5 U ok (S (s o pmsd a2 S o,

e ) (S O
e ) A (S s
e 05 S S o
e ke S U5

6 = U adlal i JseS,

2y S Jls o
—"‘—.'CSJLAJJ
-’“—.'éd‘-uw-\
2 S e gl

e S IR S

o S SA S
S SO A

o S S M Sl

JeS s gl
JieS (s s

S (Salia
JeS Sdmdw

7 S iy U

8 = hsiae o Oseh S s,

9 3w S m Sidwd

10 Bl Lo a3 1S 58 a5 i S S,

DOWF UOWr DOUP UOWF U0Wr UOWr UOWE U0WE UOWH> U0

Jhos (4 s Jls a3
2 Jue a3

4 dw Ja a5
5 duglhy 0k

11 0 eSS (e see S a0 S (50 s,

U150 o e,
= U S s s o,
C. =5 Jnos o,

D. WS oS oy,

wr oOw>

12 = e e JeS S



